’LnVerh'bk% ¢ { Line ’O‘Mo”%%
Sheaea

QL) <« — L
T - 7 L

Oz on - open cover. 3U8 and 1o

@ 7
\:\\)\' e O\,\( \'luj =5 CQ\JJ'

mukbi plikim by )qj

S)
Ll 2 € L= €« V|
S|.
)



% Tnv S\’)Eﬁ\/%g S %Lmz bandlen§

~ , 7
h (X, 00)
Dhvisors .
00 3Tw snd == 3 Line bundleng

N \ V4

D DW\SOVS} /1\n 67)\41\/
DD 7 G (D) 2 Q(D,)

Conendly QD) = G (1) 5 D~D,
VL L?Jz V= K- Dy — 'DQ_
Tbev, -

le 1 (U, Qo)) ]

7 T

¥ ¢ r (U) OX((Dz)) \
Then £ s a wer. fun on X and 9jves
the W «quv. Dy ~Dy

Q
D — L
n? U = X“’D
U, = smdl dik amwa ‘Q
+ = mﬁ%}ww‘rb@k Ui % C ULK T
L
Uy « € _t o UG

U\ — Ut*@
v (U) i



We haw o sechim

‘Ul ; \)' - \)( *K @
U +— (U,1)
(D}'HCDW oY) Uy, S
Uz, — VZ x G

v (X W),

e o ‘
vnemmw[?h\c secHm o’dl L oth

(6’) = 'Y\TD,
- Shewven
i — % Line bundles Hat
ey - € oadmit ey 5@6“

9D N\ / L

: D
‘KA \(\x,@m) 53] ®+d20t 4

. 1
R (X, L) = %Q\obd hol. sech 4 L} fe
where o= & the wersee g L given by D

) +D s o efedive divissr egr ks D
Qe O SCQ.UVg ba A %un, oY) 7(

N

[D| = % ER div in gv b CD%



Tm: X & comped 8, D & divisor on X

Ten WK 00) s a fin din v space

PL: Lt peX kb £ be a wifmico
()= @ <the, "

= £ Oxp /6,

"
= m)o OX.)Q/OX,F

Ld; L(‘DB = ;Y‘C:\’X Lmuﬁe(D.) (P)

\» Ha. dim. v space-
(e hoe a op

w0 o) —s L)

£ +——  Lawvenl tmils ) +
= ‘imoﬁe 4 & in Yhe CBAOHM}‘

Kevnd = (lobal Hd dune. em X,
L C
5 WEom) s B dim.

Al

%z A I\ ¥ereom (q, divisos @xbuNoJ et h’D)
S o eub g-?ac,e, q W° (X, O)).

P eX s o bawepgnt 4 e Viawn gstem if
ol sekimy in e Ner gfstem vanish ot P



Read: A beoe Fo’m’r free  linear ?JQ‘@m
9 dim ) 4 (choice 9 basis)

Ac hol- YleD X—s TPn
Q - W e dhw mop o meQa(Ol""‘q ¢
%: EM IDQAO\W‘S : LK —5 p

O homeomw%ism oo s imasge
@ ¥ 2€X  and the otrm 4 o hol- fun of
g is the seshrichm 4 the germ 4 a bl

fun on Y.
le.  the aevhickion vap
- 1,0
| \(9P . O,
IS SMG

oy X = i emany) urhace C9X')° = Conv. pow. sey 17
o vmi‘r«m;w -E

0 8\&3("—/7:_\ fun on P - a4 x
Hhad gamth To o Unibim)\zey.

X ompack . (D 2 one-one.




X o cmwfaojr RS. D a divisor
V € HW(X,D) a bpl linesr serea.

CP" Xq\(\)ﬂ the nosp 2ivmtg V. .

1\

'ED(Q: ¥ ] z .
Then V= 560 | he C<oyxnd T

> Qs H il V spande peink
(e ¥ P9 eXx I o ¢V
ottt o (p) =0 b o—(fl)#o)

(P, Pik o = F) whee h e the
vt 4 o hJPUo?\mM W P bt

no+t 1)
2 Opn QO s s iV separaten
e"a\'{BJyv\:\’ vethss )-e-

¥ peX I o eV st ¢ vaniheo

P e v Ialp): - alp] i #o
}w“a " d:(f)=0 ¥ %0
)
P’—‘) CU)—-"; O),

hol- fun-ak 0 in A = pwer i i Ao %y
8 it I Wl fun & Tatndy o o uniboneizer, dhen
XN Wn omb (}L Kiy- 1 An 'H’Ldr dvea . The same

- o gived G o



